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Key Messages

Almost half of the candidates have not achieved the required levels when it comes to
basic vocabulary, basic grammar, basic reading and basic writing.
e Candidates are advised to read widely to build up their vocabulary in Chinese.
e In grammar, candidates are still having difficulty with the following:
o Sentence structure.
o Negative / affirmative forms.
o Use of the interrogative forms.
o Measure words.
o Correction of the wrong words.
e In Reading Comprehension,
o Many candidates have problem to understand the text.
o Questions assessing higher-order reading skills like making inferences,
offering personal responses and guessing the meaning of words in context.
e In Writing,
o Candidates should pay closer attention to their use of grammar, spelling and
punctuation.
o Weaker candidates have serious difficulties on using good vocabulary.
o Candidates could not organize their ideas properly leaving behind grammatical
and spelling mistakes.
o The sentence structures are very simple and lack fluency.

General Comments

The National Certificate of Education (NCE) assessment in Modern Chinese aims at being
beneficial to learners in different ways. Firstly, it encourages the teaching and learning of
the key competencies and skills in Modern Chinese. It also provides feedback to learners
and stakeholders in general about the overall proficiency level achieved. By assessing
functional literacy through a series of authentic tasks, as well as assessing more traditional
academic tasks, it aims at providing a firm grounding in Modern Chinese as students’
progress through the system, whether they wish to continue to the academic stream or

move to the technical/vocational stream.

The main purpose of the NCE Assessment is to measure and certify learning that has taken

place at the end of the Nine-Year Continuous Basic Education (NYCBE) cycle.



The Modern Chinese NCE assessment focuses on the following areas:
1. Reading Comprehension (25%) 2. Writing (25%)
3. Grammar and Use of Target Language (40%) 4. Translation (10%)

The 2023 Modern Chinese NCE Question Paper was based on the prototype paper set by the
Mauritius Examinations Syndicate. It is the first time for the Grade 9 students sat for the

NCE Assessment, as part of the ongoing Nine-Year Continuous Basic Education reform.

On the whole, there were 72.7% of the candidates who passed the examinations, 8 of the
candidates who got grade 1. Nevertheless, there were still 27.3% of the candidates who
were unable to attain a pass mark in the subject. Teachers should give greater consideration

to this, and should investigate into its causes in order to improve performance.

Comments on Specific Questions

Question 1 — Basic Grammar

This question assesses knowledge of basic Modern Chinese grammar, spelling and
punctuation. Multiple-choice items, fill-in-the blanks, ticking the right option and open-
ended items were set to elicit the required information from candidates. It carries a total of
15 marks. The majority of candidates could not cope well in this exercise, Among the 66
candidates, 45 of them scored 0 -7 marks and 21 of the candidates scored 8-15 marks. Many
candidates made mistakes in questions 11-15 as they did not understand the meaning of the

qguestions well.

Item 1 This item tested the negative forms “A” and “¥&/¥%H” .The answer is “A
2”7 _The majority of candidates could cope well in this question.

Item 2 This item tested the use of the Personal Pronouns. Candidates were expected to know

the singular and the plural forms of the personal pronouns “¥. {R. " (I, you and he/him).

The answeris “3X” . The majority of candidates could cope well in this question.



Item 3 tested the use of the date. Candidates were expected to know that the labour day is in

I:l”

which date in Chinese. The answeris “fi.H — . The majority of candidates could cope
well in this question as well.

Item 4 tested the use of the interrogative word “/&ZA" (how ). Some candidates still have

difficulties with the use of “/&ZA" , so they wrongly gave “iE" . “BF)L" or “{+ABHE"
as an answer.

Item 5 This item tested the use of the preposition word “Et" (used to make comparison ).
Many candidates still have difficulties with the use of the preposition of “LEt” , so they wrongly

gave "ZJ" . “M" or "B" asananswer. .

Item 6 This item tested the use of the particles “[Y. #fi. 15”7 . “H” is sued after nouns.

The answer is A. The majority of candidates could cope well in this question as well.

Item 7 to 10 These items assessed candidates’ ability to choose the correct grammar

sentence. There were 4 sentences in each group and only one was correct. Some candidates

could not recognize the words so they lost marks.

Item 11 This item required candidates to transform the negative sentence “ /™ & f#x1JiK
ZINERGEE)4:”  into its affirmative form. This remains a very basic task and most

candidates managed to do it correctly. The expected answer was “_EPME2HIXKS N T ZF8

ZEHE.

Item 12 This item required candidates to rewrite the sentence “ffizf 5+ =% T ” by use
“2Z2K” (how old) . The expected answer was “fh 5858 % KX 72" The majority of
candidates could cope well in this question.

Item 13 This item required candidates to rewrite the sentence “EiRHT, HIGIL

77 byuse “HIR...MHZ...” . Again, candidates had to use the correct syntax, grammar

E'—__‘Z'_H“/

and agent. The expected answer was “ BFA T KAR 0T, (HREEIHE LT,
Item 14 This item required candidates to rewrite the sentence “FR7EWATE AL T IH IR
M. 7 by use “Verb +id” . Many candidates made mistakes in this question as they

didn’t understand the meaning of the sentence. The expected answer was “ F&1F W V4 Ak ik

BN, 7



Item 15 This item required candidates to rewrite the sentence “=%=%72Z#:E N, ” by use
“ih” . This was also a very basic task and most candidates managed to do it correctly. The

expected answer was “#2EE A, 7

Question 2 — Basic Vocabulary

This question assesses knowledge of basic vocabulary in Modern Chinese in context. Many
kinds of vocabulary were tested through multiple-choice items in this question. The use of
adjective, preposition, adverb, measure word and the verb forms were assessed. Some
candidates attempted these questions with confidence. The poor performance in this
guestion revealed pupils’ poor knowledge of Chinese grammar. It consists of 5 multiple
choice questions and carries 5 marks. Among the 66 candidates, only 24 of them scored 3-5

marks and 42 candidates scored 0-2 marks.

The best done items were:

Item 1 SN T KR, ZZAREH 25, PIORMS 7 arib <.

ltem 4 15 FIILAE LA 17 PRI T

The following items were found challenging:

Item 2 3ERIN T, REHEYI I - Many candidates wrongly gave “FZ” as they did not

understand the meaning of the sentence.

Item 3 HATEMNBRITHEL . Some candidates wrongly gave “BEFi” « “FEJE” or “2

7 as they did not understand the meaning of “H{Ek” .

Item 5 55 J BRI 2B . Some candidates wrongly provided “ZE5R” or
“IR/b>” as answer. It seems that the candidates could not understand the meaning of the

words and they just picked an answer at random. Hence, they could not score good marks.

Question 3 — Basic Reading Comprehension

Question 3 was split into two parts: 3A and 3B.

This question assesses functional reading at a basic level. Candidates were required to read
a short note or short text / letter / e-mail / poster / message / dialogue and show
understanding by locating explicit information from the given text(s). Two passages were

given for this question.



Question 3A was a short text with simple words. Candidates were required to answer the
guestions. Since the passage was in conformity with the learners’ interest, the overall
performance was good. It carries 5 marks. Among the 66 candidates, 54 of them scored 3 -5
marks. There were only 12 candidates scored 0-2 marks as they could not understand of the
meaning of the questions and they got the same difficulty in reading the text, hence they

lost marks.

Question 3B was a dialogue. Candidates were required to answer the questions. In this kind
of task, the importance of brief and accurate answers is essential. Most candidates lost
marks in item 3: “ZREEAEYE? 7 The expected answer was ‘AR E,
Some candidates wrongly gave “&XEAEIRZYg—#L " as an answer. In item 4:

“UNSEA IR, 2 A LR LL—EMft4? 7 The expected answer was “xE &
22 " Some candidates wrongly gave “HSEIAAH B E], 2L AL —E LA as
an answer. Among the 66 candidates, 44 of them scored 3 - 5 marks and only 22 candidates

scored 0-2 marks.

Question 4 — Word Formation
This question assesses candidates’ knowledge and ability to write Modern Chinese
characters based on the Chinese pinyin provided. A short paragraph was set and candidates

had to complete the text by filling the blanks with the correct answer.

The majority of candidates couldn’t cope well in this question and scored they lost marks.
This question carries 5 marks. There were only 12 candidates who got (3-5) marks and 48 of

candidates did not attempt this question and did not score any mark.

The well done items were:

ltem 1 X BF (jiaod PY/NEAZEZILbH, 2 AW

Item 3 5 MR B H Ok T, A (zhidao) HIE [FI K 1#

The following items were found challenging:

Item 2 %5k (héi) BT, /NAMEEIZK., Many candidates could not know how to write

113 ”»

M ” and they wrongly gave other words as answer, hence they lost marks. Item 4 itk



H/NE (zhdodao) F T [MIFKAIH . Some candidates wrongly gave “X.JE” as an
answer. Item 5 /NARKBHEFAL (iang) ©ERBAIE. Many candidates didn’t have

any idea for this question and just left a blank.

Question 5 — Error Hunt

This question assesses candidates’ ability to deal with grammar and writing of Chinese
characters in context. A short paragraph containing five items with grammatical and Modern
Chinese characters mistakes were set and candidates were required to correct these mistakes.
Some candidates had difficulties in writing the right Chinese characters, hence they lost marks.
This question carries 5 marks. There were only 10 candidates who got (3-5) marks and 33 of

candidates did not attempt this question and did not score any mark.

The best done items were:

Item 3 5. -+ JATA (D) FHEHK.

Item 5 T4 (4) FAT—ARZFIR—IAWIK .

The following items were found challenging:

Item 1 EEUEL T %H (Bl kl. Some candidates did not understand the meaning of the
sentence, and some did not know how to write “F{!” properly, all these students lost marks.
Item 2 IHIHHES TIRZIHIZE, BHE (&) O, HHKE. Again, some candidates did not
understand the meaning of the sentence and did not give the properly answer. They lost marks.
Iltem 4 FATSEHR T AT (7)) AL TF3K. This question was simple and easy, but some

candidates wrongly gave “7E” and “£” as answer, hence they lost marks.

Question 6 — Cloze Text

Question 6 was split into two parts: 6A and 6B.

Question 6A

This task is a closed Cloze Text. Candidates were required to complete a text with 5 gaps
using one suitable word to be chosen from a given list. It carries 5 marks. There were only
16 candidates who got (3-5) marks and 20 of candidates did not attempt this question and

did not score any mark.



The passage set was based on the story of a boy named Liwen who was always late for
school. This made his teacher angry. One day, Liwen told his friend Liubing the reasons he
was late:

He woke up at six , he would lie in bed for a while to get up. After got up, he then prepared
school bag, he had to look for the ruler and the pens. Sometimes the milk was too hot to
drink, he had to wait till cool. On the way to school, he would play with the puppy for a

while. He then arrived at school at eight thirty.

A good number of candidates did not earn full marks in this question. They lost marks
because they could not fill in the words: “AIFEM” . “#” and “ZfZ” in the

appropriate blanks. However, many candidates could not understand the meanings of

“%” and “lji%-“‘” .

Question 6B

This task is an open Cloze text - a higher order reading task which assesses candidates’
overall knowledge of language (grammar, syntax and vocabulary). Candidates were required
to complete a text with 5 gaps using one suitable word. No list was given. Many candidates
found this task challenging. Items 1, 2 and 5, in particular were found difficult by candidates.
It carries 5 marks. There were only 10 candidates who got (3-5) marks and 50 of candidates

did not attempt this question and did not score any mark.

The passage set was based on the story of 6A. It’s a continuation of 6A.

The best-done items were:

ltem 2 {REERAEL R S LMER, XFEARHIAT LLE AU LR /K -

ltem 3 &ERMGE_EHESERT, /RASE MR FIRE/ H SR B,

The following items proved to be problematic to some candidates.

Item1 “{RIRTEKZEIA] 7, IRESARIRK I 7

ltem 4 F b/ FI2Rg B/AER EORAERNMIEL, TR, R ERE D
ltem 5 UUERVRWT FATTEEVL, Rl T DLAERT 252452




Question 7 — Functional Writing

Question 7 is the basic writing task, with candidates required to write a short text of 50-60
words on a functional task. They are essentially assessed on their ability to write using
accurate G/S/P and complete the task properly to show their accurate use of Modern
Chinese. This question carries 10 marks.

In this session, candidates were asked to write a letter to his/her friend who was angry and
didn’t talk to him/her. Although this purpose and situation proved to be very
straightforward for candidates, many candidates did not try their best and lost marks. A
successful answer had to include the following information:

. N LRI E ST ? RAEA AT ?
. TREIIAAERR UL, RIS B ARE?
. [ R (8 A AE K

. N T ERIRITIA AN, IR BEafie?
PREN :

Performance on this question was, on the whole, below expectations. Some candidates
indeed produced good pieces of writing in a satisfactory way. There were only 20 candidates
who got (5-10) marks. 32 of candidates did not attempt this question and did not score any

mark. This showed that candidates had not mastered the skills for writing functional task.

The following sample of functional writing is an illustration of the strengths and weaknesses
encountered in this year’s paper.
Example 1:

Functional writing 1 (9—10 marks)

e

T

HANERDAEIR AT N BACIR A TR0 7o AR — B ARG LE B &R {5

H
R
a2y

\
C
o

HANTAAT A EARTER, FREER. 9 7, Bl RE S K ASFrFRE
25 R, ISR EZICR

PRI 5

This functional writing is a good piece of work. All required points developed in detail. G/S/P

and syntax very accurate. The vocabulary is accurate and appropriate. The sentence




structures are varied, this demonstrates the candidate’s skill to use different types of
sentences for particular effects.
Example 2:

Functional writing 2 (6—8 marks)

7

PRETHIH

RUF o ARERITEFS ? RS T BRIV IRE T 7 IREI A B ARXS 2 JRiEA R IEE,
FIRPURATF DAL . AR, ELE B A EE/RIAER 7.

BT A: Eh N

The functional writing is relevant to the topic. All points developed. G/S/P and syntax
essentially accurate. The vocabulary is accurate. The sentences show some variety in

structure and length. However, on spelling aspects, one can find a few mistakes.

Example 3:

Functional writing 3 (3—5 marks)

:

EEN

RUF ! AREBRIE IS ? REEHREARAERT « A EME IR RNA,
AT PEA RS AT EXBr, wafh, FHHF. N7 IRIRANLE, oo L iNI5 Ak
Arik. FAENZ .

$

PRIGARAL: XXX

This functional writing showed some aware. Required points addressed but lack of detail.
G/S/P and syntax accurate enough but errors are noticeable. The vocabulary is simple, some

coherence in the flow of ideas.

Example 4:

Functional writing 4 (1—2 marks)

SRR

RaFt AR T, ARAIRIEIE 7. BOVIRIOES(E, IRARBEIE 1. B
BB BIGER, N 7RIV, HSRE. 2R T .

TREGHA AL SN




This functional writing showed no real sense of audience and purpose. Points briefly
addressed and lack of detail. G/S/P and syntax errors are noticeable. The vocabulary is

simple, some coherence in the flow of ideas.

Example 5:

Functional writing 5 (0 mark )

PRE ML

P A 5k . AR IS 1o BRI TKRHARISE BT ABRAR B XAt 5K
TEE XM FEF MRS AR B2 M T2 e 4 3 o

IREGIAC: STl

This functional writing showed meaningless and irrelevant. Just copied of the 1% reading

comprehension of Question 3A as answer.

Question 8 — Extended Reading Comprehension

The extended reading comprehension task assesses comprehension skills in a more varied
way and at different levels than the basic reading. Candidates were assessed, inter alia, on
their ability to locate explicit information, make inferences, synthesise information, explain
the meaning of words as used in the given context, follow the chronology of events, identify

main ideas and offer personal response.

Candidates’ ability in reading comprehension was assessed through their understanding of
the extended passage. The narrative passage set was a story about the Prince in India

named Lili who advised the King to build a reservoir to prevent drought.

Candidates are reminded of the following:

) Lifting is acceptable if the question does not ask candidates to answer in their own
words, but must not contain excess information.

J Excess information in an otherwise correct answer is not given credit.

) Grammatical and spelling mistakes are not penalised if evidence of understanding is

clearly shown.

10




There were only 3 of the candidates demonstrated excellent understanding of the passage
and scored full marks, 20 of the candidates got 9-14 marks. 13 of candidates did not attempt
this question and did not score any mark. As usual, weaker ones had difficulties in reading
with understanding. Thus, they lost marks. A good number of candidates made mistake in
question (—) ENFEH T A@? Many candidates gave “EIEH 7 /NA@” as
answer as they could not understand of the meaning of this question, and they got the same

difficulty in question (J\) and (F+—) .

The following items are worthy of comment:

Item 5 iEM PR AR UL T RAE Z O

The expected answer: BN ETH AT EEZH M2 . FrelfitBIr bR IMNERK.
However, many candidates did not understand the meaning of the question, they wrongly

gave “ZEN.F T EWCFE FALLE — I KK HKEIL” as answer.

ltem 6 A4 B ERAWT ETFHIE?
The expected answer: [K 4 E 515 £ F RKRER.
Many candidates did not understand the meaning of the question, they wrongly gave “Z%

SRR E E At ) ARYE” as answer.

Item 10 VEH £ S8l 12
The expected answer: EIEFIER N/ER N,
Again, many candidates misunderstood the question and they wrongly gave “ KEA1/FF/

[E F. ” asanswer.

Item 13 candidates were required to explain the meaning of the given words.

JMZ: (2" paragraph) , the expected answer was: J77%. Many candidates wrongly gave
“VEE N/ T2 an answer. Some candidates didn’t answer this question.

7K (4 paragraph ), the expected answer was: 27K 77 /7K. Many candidates did

not know how to answer and left it blank.

ZM (6" paragraph ), the expected answer was: KF//EZ M. Many candidates did not

know how to answer and left it blank.

11



Question 9 Translation

Question 9 was split into two parts: 9A and 9B.

Question 9A assesses candidates’ ability to translate common English words into Chinese.
Candidates were required to translate five words from English into Chinese. It carries 5
marks. The majority of candidates did not do well in this exercise. There were only 11
candidates who got (3-5) marks and 46 of candidates did not attempt this question and did

not score any mark.

The common errors found in scripts were:

torun: B/7E//E garden: fLlEl/FE T

elephant: K#f/K (Many candidates did not know how to write %)
fear: & (Many candidates did not know how to write F1H) /ANFF 2%
now: L b/IEAE/SEAE

Question 9 B assesses candidates’ ability to translate a short paragraph from English into
Chinese. Candidates were required to translate a passage from English into Chinese and a

good number of candidates was not able to do this question well.

The common errors found in scripts were:
On time... /328 the classroom...Z( = attentively...\A B/ % MK
Their homework TiR/{ENl  succeed...idiid | /D Examinations %

Question 10 Essay writing

This question assesses candidates’ ability to produce an extended piece of writing of about
150 words. They will be required to write one composition out of a choice of a narrative or
descriptive topics. It assesses higher order writing skills, especially, candidates’ ability to
develop a given storyline creatively and coherently, use accurate grammar to express
themselves, their ability to use varied sentence structures and the richness and

appropriateness of the vocabulary used. This question carries 15 marks. There were only 10

12



candidates who got (12-15) marks and 38 of candidates did not attempt this question and

did not score any mark.

The narrative topic was:

(=) T, s )a, E#E — TR R GEERESR T4, Ul
THa, AT N RAG0

And the descriptive topic was:

() B GREFEZR EToA)T7

“IR MR BRAEFL B U BLXFE— ALY, 7

Performance on this question was, on the whole, far below expectations. But there were
still some candidates producing good pieces of writing in a satisfactory way. There were only
1 candidate who got 15 marks and 4 of candidates who got 14 marks. A good number of
below average candidates did not attempt this question and 48 of candidates did not score
any mark. The majority of their compositions were full of grammatical errors. Inappropriate
use of case-endings, wrong words, inappropriate verb-tense usage and sentence writing
were noted. This showed that candidates had not mastered the skills for writing an essay.
The following sample of compositions is an illustration of the strengths and weaknesses
encountered in this year’s paper.

Examples:

Composition 1 (Band 1: 13—15 marks)

TANGHE, MAKREERE B DR BNERE AL

MRIBAEHE —FEER RN L. 215, AR EEEEEAAE, A0-4
BAETTHORALIA—5kaR 5. Ak LS. “PE, sEmBBiEdzT. AR
AE. WHRMPEESL 7, FERER. 7 BREERIT A, Biia—6H
AN AT L7 e RABUR T BBl EE S K e RN iR, B T
NEFIS— & .

13




This composition is a good piece of work. The candidate made a noticeable attempt to
describe why and what did he get, it was a real surprising and unexpected for him. The
grammar and overall Chinese expression are good. The vocabulary is wide and precise. The
sentence structures are varied, this demonstrates the candidate’s skill to use different

lengths and types of sentences for particular effects.

Composition 2 (Band 2: 10—12 marks)

HHEE-GFRTH, TR —EARE. R 2 T4
X ALFEITFHLe BERZIF U7 2 A% o IR DAJG 3R 35 R AT AT T 1 5

POt R 2], BIRERHZES %, ATERTLSEHRREES
KT — BROOLFEERERTHL BAAEAE B DHRE, RARESRELTE D
= WBNXFE— AL

KU T REISCEE . MR, BITIREINE S5

This composition is relevant to the theme set in the examination paper. Sentences show
some variation in length and style, including the confident use of complex sentences.

However, some spelling errors were noticeable.

Composition 3 (Band 3: 7—9 marks)

RAEM T, RFMIT 0. RBEER, KBREW! FRZY, 26K, &
M. SBAURE. NFBEERma, WEIIRZAEMRZ 2N, WATRIEW. &
A BR L 2L AT ZIBHRIT O AAEZ A, e MRET
Wz. FIEUT AT K o 22 AEATTHIAT AN S AR 4

W, TR, TR AR [ K

The composition is relevant but elementary content. The sentences show some variety in
structure and length. However, on linguistic aspects, one can find some grammatical and

spelling mistakes.

14




Composition 4 (Band 4: 4—6 marks)

HMAAR A B2 B DB AL

PG ISR . AT —EAER L) . FATEN AR, b3
ABIEMR T, Mz Kk VBN T KBS E] 1Rk,

From this composition, we could see that there some relevant content, the narratives are
very simple, and the descriptions lack detail. The sentence structures are generally simple.

Some sentences were taken from the previous reading comprehension.

Composition 5 (Band 5: 1—3 marks)

N, BEERE, RER T, RZAEAFRE ., WP AR, HIrBIRZ 24
AW RIT T o 2T LG EIR B . RRIREFIIR

This composition is incomplete, and it contains some grammatical mistakes. The sentence

structures are simple and lacks fluency.
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